Phy SicHy .1v L,J_./{s Ao gls, L0 Ut
-
m=YOe9 2 lb-)ﬂﬁz% = S0 kg Q=mcdab
C = oo lT Q= O/YOR “oc&(qo— rs) = 9'“
% = Forg |
Ya _JF@ 9._‘.@ \-'/'@ =

m,C, [93—9J-|- err Lee"gr)-l' Cr- (9¢ ’9|0}:0
QI
m, x (T, X(“'O-YO)-r YXW"X("O'f’Q-I- "Mx(\‘&-r’- =0
e i i, AL

(\'000 My - )’0\'..- -+ r"' =0

(r\‘ooo"l,: I’cbo..o __9M,: YO(;;::: - o/qo k) |
Q,-Q ol
By 4
- i
. L4 Y
m,C, 86, = MrC, 06, ¢Aa,:\dl:lhljalvu-_a,))/c-/,:
Yoo x Cloex A = I'fooxq“XAEy . CJ)/A, ﬁ.}ljl@ (}‘;
i @ . -
M=-YA C
| (——

Z » < 9.
B T o ¢ oo e -

https://t.me/physicfa alsb JLls . o N
@physicfa.ir al Sl dades AJ(//‘,, ,ﬂ‘:,,,ég(,/ Y /,'_o{:,.. Ly
http://physicfa.ir Li<syd Culuag - # .

@mostafakabiri 346 al,Slicuiyl § Sl ))!JO/}_’J U’}l‘

Em—



CE'QI'-’//-'- Q_fl'"f Q(‘-? =90
Q;,(GC-G)* mgrte,_-e)—r g_?(e,, -6) =~

CYx(1¥-10) + M aYoax (1F= 1)+ VeQx (IF-1°F) =0

[\l‘_‘, /\l‘o.m +(-Vlae) =0 —> M = ./\’[‘}9=\’[<°3

AV SgSeb I hC oYl O -
Ql + Q se—> M|C|(9c-—9‘)+ MrCy(ec-G,) s
PxCx( Oe-le) + YxCx( be-1o) =
¥COp -YoC 4 Y€ 6s —lho C =9
ACQ@ = Yool —_ gc = rcoZ/ A fo‘c
V4
Vv
Q=mMmcAP _, c o L
mAg
CA.—.&"L"_Q‘X'QQ_B='XLXL= %:O/r‘
cg @ "MA ag, v o

https://t.me/physicfa al,sL JLls

@physicfa.ir alySlicunl dadis
C, = O/l‘ C . : b :
A ) http://physicfa.ir )8 culeng

@mostafakabiri a0 ol Sbiccal g al Sl



. ot - -A

Q +Qps Q=0 ) -
: ry’) e ahsre s Q C(‘-y‘d:lgq’//l
Q|*Qf‘|‘"' - Q =9
. ad
ol 25, P2 L dhS Ve oo
Qu -+ Qy + l’lxla'{zo

m, € (8e-00) +mrCe( Be-0r) 471002 ¢
Myx€loe (Do Ao) 4 132 Woax( Do -Te) + \'|x‘v((=o

-"’"m M, + 'r’.-. =% Ylgoso = o

""/...m :\‘r",". —,m=r_ﬁ“:= A k
! " Woon P2

https://t.me/physicfa al,sL JLls
@physicfa.ir al Sl dadis
http://physicfa.ir <58 Culag
@mostafakabiri y33.0 al,Sbicasyl gal,Sh



